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QUESTION 1

Which logical networking service does NSX Edge use to change source of destination IP addresses and TCP/UDP port
numbers that are found in the flow of a packet header? 

A. Load balancing 

B. Dynamic Host Configuration Protocol (DHCP) 

C. Network Address Translation (NAT) 

D. VPN 

Correct Answer: C 

 

QUESTION 2

Which three statements are true about NSX Distributed Firewall? (Choose three.) 

A. ft provides East-West stateful Layer 2 - Layer 4 firewall 

B. it allows you to create access control policies based on VMware vCenter Server objects 

C. such as data centers and clustersDC ft works as perimeter security firewall. 

D. It provides North-South stateful Layer 3 - Layer 4 firewall. 

E. It is virtualization-aware firewall. 

Correct Answer: ABE 

 

QUESTION 3

Which domain does vSphere/ESXi virtualize for the Software-Defined Data Center (SDDC)? 

A. Applications 

B. Storage 

C. Compute 

D. Network 

Correct Answer: B 

 

QUESTION 4

Which operational mode does the NSX Edge router use to connect to the logical network for load balancing? 

Latest 1V0-642 Dumps | 1V0-642 Exam Questions | 1V0-642 Braindumps                                2 / 4

https://www.leads4pass.com/1v0-642.html
https://www.leads4pass.com/1v0-642.html
https://www.leads4pass.com/1v0-642.html


https://www.leads4pass.com/1v0-642.html
2024 Latest leads4pass 1V0-642 PDF and VCE dumps Download

A. On-arm 

B. Transparent 

C. Inline 

D. Custom 

Correct Answer: C 

 

QUESTION 5

What is the advantage of live migration of virtual machines with VMware Site Recovery Manager and VMware NSX? 

A. Micro-segmentation security. 

B. Networking beyond data center. 

C. Simplified application deployment. 

D. Reduced Recovery Time Objective (RTO) by 80 percent. 

Correct Answer: D 

 

QUESTION 6

How do virtual networks that are natively isolated from each other provide support for overlapping IP address in a multi-
tenant environment? 

A. By enabling isolation without using access control lists and firewall rules. 

B. By enabling isolation with the help of Active Directory (AD). 

C. By employing the spanning tree protocol. 

D. By implementing load balancing. 

Correct Answer: A 

 

QUESTION 7

One of the advantages of using VXLAN over VLAN is its high scalability. What is the maximum number of logical
network IDs that is handled by VXLAN? 

A. 16 million 

B. 10 million 

C. 4,096 

D. 12 million 
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Correct Answer: A 

 

QUESTION 8

Which plane of the VMware NSX architecture provides a single point of configuration and Representational State
Transfer (REST) API entry points? 

A. Management 

B. Control 

C. Integration 

D. Data 

Correct Answer: A 

 

QUESTION 9

What is the common practice that I followed when a new application is deployed in legacy networking? 

A. The application is mapped to users upfront. 

B. The physical network is updated by the network team each time. 

C. Recourse allocation is reconfigured based on the application requirement. 

D. Firewall and Intrusion Prevention System (IPS) solutions are switched off during the first deployment cycle. 

Correct Answer: C 

 

QUESTION 10

An administrator has deployed Distributed Firewall to protect their infrastructure from security threats. Due to extreme
loads on the network the CPU is saturated and the memory becomes full. 

In this scenario, which mode does the Distributed Firewall enter? 

A. Secondary 

B. Fail open 

C. Proxy 

D. Fail close 

Correct Answer: B 
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